





PressureIndependMultiYield

nDmaterial PressureIndependMultiYield \$tag \$nd \$rho \$refShearModul \$refBulkModul \$cohesi \$peakShearStra <\$frictionAng=0. \$refPress=100. \$pressDependCoe=0. \$noYieldSurf=20 <\$r1 \$Gs1 ...> >

Suggested parameter values:

	Soft Clay	Medium Clay	Stiff Clay
rho	1.3 ton/m ³ or	1.5 ton/m ³ or	1.8 ton/m ³ or
	1.217x10 ⁻⁴	1.404x10 ⁻⁴	1.685x10 ⁻⁴
	(lbf)(s ²)/in ⁴	(lbf)(s ²)/in ⁴	(lbf)(s²)/in ⁴
refShearModul	1.3x10 ⁴ kPa or	6.0x10⁴ kPa or	1.5x10⁵ kPa or
	1.885x10 ³ psi	8.702x10³ psi	2.176x10⁴ ps
refBulkModul	6.5x10 ⁴ kPa or	3.0x10⁵ kPa or	7.5x10⁵ kPa or
	9.427x10 ³ psi	4.351x10⁴ psi	1.088x10⁵ ps
cohesi	18 kPa or	37 kPa or	75 kPa or
	2.611 psi	5.366 psi	10.878 psi
peakShearStra	0.1	0.1	0.1





PressureDependMultiYield

nDMaterial PressureDependMultiYield \$tag \$nd \$rho \$refShearModul \$refBulkModul \$frictionAng \$peakShearStra \$refPress \$pressDependCoe \$PTAng \$contrac \$dilat1 \$dilat2 \$liquefac1 \$liquefac2 \$liquefac3 <\$noYieldSurf=20 <\$r1 \$Gs1 ...> \$e=0.6 \$cs1=0.9 \$cs2=0.02 \$cs3=0.7 \$pa=101 <\$c=0.3>>

Suggested parameter values:

	Loose Sand	Medium Sand	Medium-dense	Dense Sand
	(15%-35%)	(35%-65%)	Sand (65%-85%)	(85%-100%)
rho	1.7 ton/m ³ or	1.9 ton/m ³ or	2.0 ton/m ³ or	2.1 ton/m ³ or
	1.59x10 ⁻⁴	1.778x10 ⁻⁴	1.872x10 ⁻⁴	1.965x10 ⁻⁴
	(lbf)(s ²)/in ⁴	(lbf)(s ²)/in ⁴	(lbf)(s ²)/in ⁴	(lbf)(s ²)/in ⁴
<i>refShearModul</i> (at p' _r =80 kPa or 11.6 psi)	5.5x10 ⁴ kPa or 7.977x10 ³ psi	7.5x10 ⁴ kPa or 1.088x10 ⁴ psi	1.0x10⁵ kPa or 1.45x10⁴ psi	1.3x10⁵ kPa or 1.885x10⁴ psi
<i>refBulkModu</i> (at	1.5x10 ⁵ kPa or	2.0x10 ⁵ kPa or	3.0x10 ⁵ kPa or	3.9x10 ⁵ kPa or
p' _r =80 kPa)	2.176x10 ⁴ psi	2.9x10 ⁴ psi	4.351x10⁴ psi	5.656x10 ⁴ psi
frictionAng	29	33	37	40
<i>peakShearStra</i> (at p' _r =80 kPa)	0.1	0.1	0.1	0.1

















Soil Strata				in the
- Soil Layer # (Fro topdown)	om Thickness [m]	Res Soil Type	idual Shear Strengtl [kPa]	¹ P L C
1: 2: 3: 4: 5: 6: 7: 8: 9: 10:	10 0 0 0 0 0 0 0 0 0 0 0 0 0	22: U-Clay2 (PressureIndependMultYield) 1: Sat cohesionless very loose, sitt permeability 2: Sat cohesionless very loose, sand permeability 3: Sat cohesionless very loose, gravel permeability 4: Sat cohesionless loose, sand permeability 5: Sat cohesionless loose, gravel permeability 5: Sat cohesionless loose, gravel permeability 6: Sat cohesionless medium, sitt permeability 8: Sat cohesionless medium, gravel permeability 10: Sat cohesionless medium, gravel permeability 11: Sat cohesionless medium-dense, sant permeability 12: Sat cohesionless medium-dense, gravel permeability 12: Sat cohesionless medium-dense, gravel permeability 13: Sat cohesionless dense, sant permeability 14: Sat cohesionless dense, sant permeability 15: Sat cohesionless dense, gravel permeability 16: Cohesive soft	0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2	
Saturate C Activate Activate Activate Activate Activate Activate Note: P, L and	ed Soil Analysis Pile Zone Mater Pile-Soil Interfac Outermost Zone Tension Cutoff f d C represents P	17: Cohesive medium 18: Cohesive stiff 19: U-Sand1A (PressureDependMultiYield) 20: U-Sand1A (PressureDependMultiYield) 20: U-Clay((PressureIndependMultiYield) 22: U-Clay2 (PressureIndependMultiYield) 22: U-Sand2 (PressureIndependMultiYield) 24: U-Sand2B (PressureDependMultiYield)2 or Cohesive Sol arabolic, Linear increasing and Constant variation of soil moc	[m] Thickness (xD) Thickness [m] Iulus with depth, resp	0.1 1 pectively.



Pile Pile Pile Type Diameter/Side Length (D)		
Pile Pile Type Diameter/Side Length (D)		
Total Pile Length Pile Length above Surface	Circular Image: model 1 [m] 12 [m] 6 [m]	Pile Head Pile Group Pile Head Group Info Pile Head Group Info Number 7-Dir. Number 3 Axial Load Group [KN]
C Linear Beam Element	rear Beam Properties /oung's Modulus 3000 Moment of Inertia 0.04	00000 [kPa] Mass Density 0 [ton/m3] 190873 [m4] Re-Calculate
C Nonlinear Beam Element - Ago	regator Section	Modify
Include Bridge Deck at Pile He Deck & Abutment	ad (Single Pile Only)	
Deck Length	12 [m] Modify	Beam Element for Deck Modify Solid Element for Deck Modify
	ОК	Cancel

ushover				
Type		Method		OK
C Cyclic Pushover (Sine Wave)	_	Force-Based Method Displacement-Based Metho		ancel
C U-Push Define U-Push				
Force Increment (Per Step)		- Displacement Increment (Pe	er Step)	
Logitudinal (X) Force	[kN]	Longitudinal Displacement	0.01	[m]
Transverse (Y) Force 0	[kN]	Transverse Displacement	0	[m]
Vertical (Z) Force 0		Vertical Displacement	0	[m]
Moment of X 0	[kN-m]	Rotation around X	0	[rad]
Moment of Y 0	[kN-m]	Rotation around Y	0	[rad]
Moment of 7	[kN-m]	Rotation around 7	0	[rad]
-Surface Load Applied at Pile Zone	Ground Surf	ace Level) (Per Sten)		
Logitudinal (X)	Transverse (Y) 0 Vertical (Z)	0	[kPa]
Time				
 Static Pushover Number 	er of Steps	20		
C Dynamic Pushover Time		[sec] Time S	Step 0.01	[sec]
- Applied Location				
Pile Head				
C Shear Beam		d Range/Height	[m]	

Mesh General Definition Horizontal Meshing Vile Group Vertical Meshing Mesh Scaling	General Definition Mesh Scale Half mesh Pile Number of Beam Elements for Pile Section Above Ground Surface:
	OK Cancel Apply

































PBEE Input						
	Motion Fold	er			Brow	se
C:\MyDoc_		Base\FixedBase_SpringA	.but_MotionSet	1_plfiles\FixedBase_	SpringAbut_MotionS	et1.EQ
Input Motion	s (100 Reco	rds in Total; 100 Records S	elected)	Di	splay Intensity Meas	ures
Record#	Bin	Motion	#Points	Timestep (Sec)	Duration (Sec)	
1	LMLR	BORREGO/A-ELC	4000	0.0100	40.0000	
2 2	LMLR	LOMAP/A2E	7990	0.0050	39.9500	
V 3	LMLR	LOMAP/FMS	7949	0.0050	39.7450	
☑ 4	LMLR	LOMAP/HVR	7990	0.0050	39.9500	
☑ 5	LMLR	LOMAP/SJW	7990	0.0050	39.9500	
☑ 6	LMLR	LOMAP/SLC	7915	0.0050	39.5750	
7	LMLR	NORTHR/BAD	3499	0.0100	34.9900	
⊠ 8	LMLR	NORTHR/CAS	3979	0.0100	39.7900	
9	LMLR	NORTHR/CEN	2999	0.0100	29.9900	
☑ 10	LMLR	NORTHR/DEL	3536	0.0100	35.3600	
⊡ 11	LMLR	NORTHR/DWN	2000	0.0200	40.0000	
⊻ 12	LMLR	NORTHRYJAB	3499	0.0100	34.9900	
	LMLR	NORTHRYLUT	1600	0.0200	32.0000	
⊡ 14	LMLR	NURTHRYLUA	3999	0.0100	39.9900	~
De-selec (Double-clic Compute	: An any rec Response f	Rando oord to view its characteristi to Entire Record Length for 0.1 second	miy Choose cs including res Free Vib s	ration Duration 5	stor Each Bin	







Model input Inflict Corts (UC) Inflict Corts	C C C C C C C C C C C C C C C C C C C C
STEP 1: DEFINE MOT Introduct (UIS) Image: Status (UIS) Analysis Type Image: Status (UIS) Image: Status (UIS) Produce variable Structure excavation Cubic Yard (CY) 1155 3.3 Produce variable Structure excavation Cubic Yard (CY) 1155 4.4 C Brue Sindery Structure excavation Cubic Yard (CY) 5.23 5.4 PBEE Analysis: Grand Stoking Structure (Incomete (Indoming) Cubic Yard (CY) 5.225 5.445 PBEE Analysis: Grand Stoking Structure (Incomete (Indoming) Cubic Yard (CY) 5.255 5.55 Model Definition Bar reinforcing steel (Indoge) Cubic Yard (CY) 5.135 6.024 PBeta Analysis: Grand Stoking Bar reinforcing steel (Indoge) Power (IE) 5.135 6.024 Part reinforcing steel (Indoge) Structure (Incomete (Indoge) Structure (Incomete (Indoge) 5.024 1.135 6.024 In Bord Stoking Bar reinforcing steel (Indoge) Liber Structure (Incomete (Indoge) 1.35 6.024 In Bord Stoking Bar reinforcing steel (Indoge) Bar reinforcing steel (Indoge) 1.135 6.024 In Bord Stoking Bar reinforcing steel (Indoge) Bar reinforcing steel (Indoge) 1.135 6.024	VC NZ ND w → U; UC old dev 1 3 1
Item# Item# <th< th=""><th>UC 41d dov/ 3 3 3 3 44 5 76 5 76 5 104 5 104 5 104 5 25 5 60 6 0</th></th<>	UC 41d dov/ 3 3 3 3 44 5 76 5 76 5 104 5 104 5 104 5 25 5 60 6 0
Panalysis Type 1 Structure excavation Cubic Yard (Cr) 8 165 5 33 C Pushover 3 Structure beckfill Cubic Yard (Cr) 5 20 \$ 44 T Engorny support (superstructure) Sque Foot (SF) \$ 33 \$ 7.6 C Bigervalue T emporary support (superstructure) Sque Foot (SF) \$ 33 \$ 7.6 C Bigervalue T emporary support (superstructure) Sque Foot (SF) \$ 33 \$ 7.6 C Bigervalue 5 Structurel concrete (indige) Cubic Yard (Cr) \$ 1252 \$ 44 PBEE Analysis: 6 Structurel ocncrete (indige) Cubic Yard (Cr) \$ 1252 \$ 45 PBEE Analysis: 6 Ground Straking 9 Bar reinforcing steel (concrete (looting) Cubic Yard (Cr) \$ 125 \$ 024 Model Definition 11 Epory inject crecks Lineer Foot (LF) \$ 213 \$ 43 Model Definition 12 Column steel casing Pound (LB) \$ 12 \$ 024 11 Epory inject crecks Lineer Foot (LF) \$ 13 \$ 024 <td>3 33 5 44 5 7.6 5 7.6 5 104 8 325 5 104 8 325 5 65 6 0.27 5 0.24 5 43 6 0</td>	3 33 5 44 5 7.6 5 7.6 5 104 8 325 5 104 8 325 5 65 6 0.27 5 0.24 5 43 6 0
C Pushover 2 Structure backfill Cubic Yard (Cr) \$ 220 \$ 44 C Eigenvalue 3 Temporary support (superstructure) Sque Foot (SF) \$ 38 \$ 7.6 C Eigenvalue 4 Temporary support (superstructure) Sque Foot (SF) \$ 38 \$ 7.6 C Biner Sheking 6 Structure! concrete (trioligin) Cubic Yead (Cr) \$ 2225 \$ 445 C Biner Sheking 7 Structure! concrete (trioligin) Cubic Yead (Cr) \$ 225 \$ 445 PBEE Analysis: 8 Aggregab tasic (concrete (trioligin) Cubic Yead (Cr) \$ 125 \$ 024 PBEE Analysis: 9 Bar reinforcing steel (fording. retaining w. Pound (LB) \$ 13 \$ 0.24 Model Definition 11 Epocy inject crecks Squee Foot (LP) \$ 215 \$ 43 Model Definition 13 Column steel cosing Pound (LB) \$ 10 \$ 2 Model Definition 13 Column steel cosing Pound (LB) \$ 10 \$ 2 Bridge	\$ 44 \$ 76 \$ 76 \$ 445 \$ 104 \$ 1025 \$ 65 \$ 65 \$ 027 \$ 024 \$ 43 \$ 60
Providover 3 Temporary support (superstructure) Sque Foot (SF) 5 3 5 7.6 C Eigenvalue 4 Temporary support (subminent) Sque Foot (SF) 3 3 5.7.6 C Base Shelway 5 Structural concrete (indiga) Cubic Yard (Cr) 5.22.5 5 445 PBEE Analysis: 6 Ground Shelway 9 Bar reinforcing steel (portack sleb) Cubic Yard (Cr) 12.25 5 65 Ø Ground Shelway 9 Bar reinforcing steel (condary retaining weight schedit sch	\$ 76 \$ 76 \$ 445 \$ 104 \$ 225 \$ 65 \$ 0.27 \$ 0.24 \$.03 \$.60
Eigenvalue 4 Temporary support (abutmient) Sigue Foot (SF) 3 30 3 7.6 C Brade Statuted concrete (indige) Cubic Yeard (Cr) \$ 2225 \$ 445 C Brade Statuted concrete (indige) Cubic Yeard (Cr) \$ 520 \$ 104 PBEE Analysis: 8 Aggregate base (approach slab) Cubic Yeard (Cr) \$ 225 \$ 445 C Ground Staking 9 Bar reinforcing steel (poting, retaining w. Dural (LB) \$ 135 \$ 027 Model Definition 10 Bar reinforcing steel (fording, retaining w. Lineer Foot (LF) \$ 310 \$ 024 Model Definition 12 Repair minor spalls Squee Foot (SF) \$ 300 \$ 0 Bridge Parameters. 13 Column steel cosing Pound (LB) \$ 10 \$ 2	3 76 \$ 446 \$ 104 \$ 225 \$ 65 \$ 0.27 \$ 0.24 \$ 43 \$ 60
C Baue Sheking 5 Structural concrete (initige) Cubic Yeard (Cr) 5 225 5 445 PBEE Analysis: 6 Structural concrete (popproach slab) Cubic Yeard (Cr) 5 250 5 104 PBEE Analysis: 6 Ground Shaking 7 Structural concrete (popproach slab) Cubic Yeard (Cr) 5 252 \$ 6 5 © Ground Shaking 9 Bar reinforcing steel (portions, tells) Cubic Yeard (Cr) \$ 125 \$ 6 6 Model Definition 11 Epocy inject crecks Super Foot (SF) \$ 300 \$ 6 0 Bridge Parameters, 13 Column steel casing Found (LB) \$ 10 \$ 2 \$ \$ 6 0	\$ 445 \$ 104 \$ 325 \$ 65 \$ 027 \$ 024 \$ 024 \$ 60
C Brand StateWay 6 Structural concrete (potoning) Cubic Yard (CY) 5 20 \$ 104 PBEE Analysis: 7 Structural concrete (approach slab) Cubic Yard (CY) \$ 1625 \$ 125 P BEE Analysis: 8 Aggregate base (approach slab) Cubic Yard (CY) \$ 325 \$ 65 9 Bar reinforcing steel [chridge] Pound (LB) \$ 112 \$ 024 11 Epoxy inject crecks Squee Foot (SF) \$ 300 \$ 60 Model Datimition 12 Chairn steel cosing Pound (LB) \$ 104 \$ 25 Bridge Parameters. 13 Column steel cosing Pound (LB) \$ 10 \$ 2	\$ 104 \$ 325 \$ 55 \$ 0.27 \$ 0.27 \$ 0.27 \$ 0.24 \$ 43 \$ 60
PBEE Analysis: 7 Structural concrete (approach slab) Cubic Yard (Cr) 1 (25 \$ \$ 3.25) [©] Ground Shaking Aggregate base (approach slab) Cubic Yard (Cr) \$ 325 \$ \$ 65 [©] Ground Shaking 9 Bar reinforcing steel (fording, retaining w. Porund (LB) \$ 1.3 \$ 0.27 Model Definition 10 Bar reinforcing steel (fording, retaining w. Porund (LB) \$ 1.2 \$ 0.24 Model Definition 11 Epoxy inject cracks S user Foot (LF) \$ 215 \$ 4.3 Model Definition 12 Repair minor spalls S appree Foot (SF) \$ 300 \$ \$ 60 Bridge Parameters 13 Column steel cosing Porund (LB) \$ 10 \$ \$ 2	\$ 225 \$ 65 \$ 027 \$ 024 \$ 43 \$ 60
Colour Constraint 8 Aggregate base (approach stab) Cubic Yard (Cr) 3 25 \$ 65 ^C Ground Shaking 9 Bar reinforcing steel (bridge) Pound (LB) \$ 1.35 \$ 0.27 ^{Model} Definition 10 Bar reinforcing steel (fridge) Pound (LB) \$ 1.2 \$ 0.24 ^{Model} Definition 12 \$ pound (LB) \$ 1.2 \$ 0.24 ^{Model} Definition 12 Pound (LB) \$ 1.3 \$ 60 ^{Model} Definition 12 Repair imnors spalls S quere Foot (LF) \$ 3.00 \$ 60 13 Column steel cosing Pound (LB) \$ 1.0 \$ 2 13 Column steel cosing Pound (LB) \$ 1.0 \$ 2	\$ 65 \$ 027 \$ 024 \$ 43 \$ 60
C Ground Shoking 9 Bar reinforcing steel (fordge) Pound (LB) \$1.3 \$0.27 Model Definition 11 Epoxy inject crecks Square Foot (SF) \$1.2 \$0.24 Model Definition 12 Repair innois spalls Square Foot (SF) \$3.00 \$6.0 Bridge Parameters 13 Column steel cosing Pound (LB) \$1.1 \$2 Bridge Parameters 13 Column steel cosing Pound (LB) \$1.0 \$2	\$ 0.27 \$ 0.24 \$ 43 \$ 60
Image: The importance of	\$ 024 \$ 43 \$ 60
Model Datimition 11 Exposy mjoct crecks Lineer Foot (UF) § 215 § 43 Bridge Parameters 13 Column stell cosing Square Foot (SP) 300 \$ 60 Bridge Parameters 13 Column stell cosing Power Eord (IB) \$ 10 \$ 2 Bridge Parameters 1 Lineer Eord (IB) \$ 10 \$ 2	\$ 60
Model Definition 12 Hepair minor spalls Sque Foot (SF) \$ 300 \$ 60 Bridge Parameters 13 Column steel casing Pound (LB) \$ 10 \$ 2 Bridge Parameters 14 Junit and assamble Linear Excel (P) \$ 25 \$ 55	\$ 60
Bridge Parameters 14 Joint steel casing Pound (LB) \$ 10 \$ 2 Endage Parameters 14 Joint seel assembly Linear Foot (LE) \$ 225 \$ 55	
I Inwar Ford (F) \$ 55	
15 Electronic beaution Each (CA) 4 1500 A 300	5 DD
Max December 16 Drift and hand devel Linear Ford ED t 55 t 11	* 11
Mesh Paremeters. 10 Drill and oddie down Linear Polici(L7) \$ 55 \$ 11	
18 Drive the long ride Each (54) \$ 353 \$ 11	
Baundes Cooperat	e 410
20 Ashher norrete TON \$ 265 € 51	\$ 410
B.C. Type 21 Mudiacking Oubic Yard (CY) \$ 380 \$ 76	\$ 410 \$ 1800 \$ 53
22 Bridge removel (column) Cubic Yard (Cr) \$ 3405 \$ 681	\$ 410 \$ 1800 \$ 53 \$ 76
Bedrock Type 23 Bridge removal (portion) Cubic Yard (CY) \$ 2355 \$ 471	\$ 410 \$ 1800 \$ 53 \$ 76 \$ 681
24 Approach slab removal Cubic Yard (CV) \$ 1000 \$ 200	\$ 410 \$ 1600 \$ 53 \$ 76 \$ 661 \$ 471
STED 2: EVECUTE EE 25 Clean deck for methacrylate Squre Foot (SF) \$ 0.4 \$ 0.08	\$ 410 \$ 1800 \$ 55 \$ 75 \$ 681 \$ 471 \$ 200
26 Furnish methocrylate Gallon (GAL) \$ 85 \$ 17	\$ 410 \$ 1600 \$ 53 \$ 76 \$ 681 \$ 471 \$ 200 \$ 0.09
Save Model & Ru 27 Treet bridge deck Squre Foot (SF) \$ 0.55 \$ 0.11	\$ 410 \$ 1600 \$ 53 \$ 75 \$ 661 \$ 471 \$ 200 \$ 0.09 \$ 17
	\$ 410 \$ 1800 \$ 53 \$ 75 \$ 681 \$ 471 \$ 471 \$ 200 \$ 0.08 \$ 17 \$ 0.11
28 Barrier rail Linear Foot (LF) \$ 2 \$ 0.4	\$ 410 \$ 1800 \$ 53 \$ 57 \$ 76 \$ 681 \$ 471 \$ 200 \$ 0.08 \$ 17 \$ 0.11 \$ 0.4
28 Borner roll Linear Foot (LF) \$ 2 \$ 0.4 29 Re-center column Each (EA) \$ 100 \$ 20	\$ 410 \$ 1800 \$ 53 \$ 75 \$ 681 \$ 471 \$ 471 \$ 200 \$ 0.4 \$ 20 \$ 0.4 \$ 20 \$ 0.4 \$ 20 \$ 0.4 \$ 20 \$ 0.4 \$ 20 \$ 0.4 \$





